


机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T01

JXT25-50  快换铣夹头 JXT25-50 OUICK ACTION MILLING CHUCK

◎ JXT25-50 型快换铣夹头适用于各种镗床 / 铣床使用，锥柄分为：
莫 氏 MTA5/MTA6/ 公 制 80。7:24 锥 度 BT50/NT50/JT50 等。 多
种刀柄能快速更换，尤其适用于立铣、卧铣上进行立铣、面铣、钻孔、
镗孔作业，不但更换刀具简单迅速，而且能大大地减轻工人的劳动
强度，缩短辅助时间，是当前铣床和同类机床不可缺少的附件之一。

◎ Type JXT25-50 milling chuck is designed for the milling 
machines with spindle with taperhole of 7:24 and large 
end diameter of 69.85mm.It features high clamping 
force(Max 40-50 tons),highcentering accuracy,cufter change 
casy,especially for those cutters changed frequently, it will 
show its advanteges.It's not only changing cutters easily 
and rapidly,but also reducing the labour intensity needed 
and shortening the chip-to-chip time.It is one of important 
accessories for milling machines and other machine tools at 
present.

特点： Features:

JXT25-50 套装           JXT25-50 Suit
规格 / 型号  Model JXT25-50

快换主体一支 quick-action mount 1PCS
45-C32 强力刀柄一支 45-C32 collet chuck 1PCS

C32-6/8/10/12/14/16/18/20/25 共 8 支 C32-6/8/10/12/14/16/18/20/25-8PCS
快换中间套 45-MT2 一支 45-MT2 Quick change Morse set 1PCS
快换中间套 45-MT3 一支 45-MT3 Quick change Morse set 1PCS
快换中间套 45-MT4 一支 45-MT4 Quick change Morse set 1PCS

快换钻接杆 B16 一支 B16 Drill chuck arbors 1PCS
1-13mm 钻夹头一支 1-13mm Drill chuck 1PCS

45-FMB40 铣刀柄一支 45-FMB40 Milling cutter shank 1PCS
C32 勾头扳手一支 C32 spanner 1PCS
C42 勾头扳手一支 C42 spanner 1PCS



机床附件 MACHINE TOOL ACCESSORIES

机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T02

JXT25-50 主体 JXT25-50 SUBJECT 

φ
10
0

L195

φ
69
.8
5

锥度7:24-BT50

锥度7:24-45

锥度7:24-NT50

φ
10

0

L170

φ
69

.8
5

锥度7:24-45

MTA.NO.

锥度7:24-45

L2

L1

L

H

G

φ
10

0

规格 / 型号  Model MTA.NO L L1 L2 H G 精度 Accuracy
MTA5-45 莫氏 MTA5 290 40 35 13 44.399 0.01
MTA6-45 莫氏 MTA6 290 40 45 17 63.348 0.01

公制 80-45 公制 80 290 45 55 20 80 0.01



机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T03

扁尾型莫氏钻接杆 MORSE TAPER DRILL CHUCK ARBORS WITH TANG

MTA 规格 / 型号  Model L L1 L2 D d a NO.S
MTA1 MTA1-J0 79 65 14 12.065 6.350 3.5 J0
MTA1 MTA1-J1 85 65 20 12.065 9.754 3.5 J1
MTA1 MTA1-J2 90 65 25 12.065 14.199 3.5 J2
MTA1 MTA1-J3 99 65 34 12.065 20.599 3.5 J3
MTA1 MTA1-J6 94 65 29 12.065 17.170 3.5 J6
MTA1 MTA1-J33 94 65 29 12.065 15.850 3.5 J33
MTA1 MTA1-B10 86 65 21 12.065 10.094 3.5 B10
MTA1 MTA1-B12 90 65 25 12.065 12.065 3.5 B12
MTA1 MTA1-B16 97 65 32 12.065 15.733 3.5 B16
MTA1 MTA1-B18 105 65 40 12.065 17.780 3.5 B18
MTA2 MTA2-J0 94 80 14 17.780 6.350 5 J0
MTA2 MTA2-J1 100 80 20 17.780 9.754 5 J1
MTA2 MTA2-J2 105 80 25 17.780 14.199 5 J2
MTA2 MTA2-J3 114 80 34 17.780 20.599 5 J3
MTA2 MTA2-J4 125 80 45 17.780 28.550 5 J4
MTA2 MTA2-J5 130 80 50 17.780 35.890 5 J5
MTA2 MTA2-J6 108 80 28 17.780 17.170 5 J6
MTA2 MTA2-J33 108 80 28 17.780 15.850 5 J33
MTA2 MTA2-B10 101 80 21 17.780 10.094 5 B10
MTA2 MTA2-B12 105 80 25 17.780 12.065 5 B12
MTA2 MTA2-B16 112 80 32 17.780 15.733 5 B16
MTA2 MTA2-B18 120 80 40 17.780 17.780 5 B18
MTA2 MTA2-B22 128 80 48 17.780 21.793 5 B22
MTA2 MTA2-B24 138 80 58 17.780 23.825 5 B24
MTA3 MTA3-J1 118 99 19 23.825 9.754 5 J1
MTA3 MTA3-J2 124 99 25 23.825 14.199 5 J2
MTA3 MTA3-J3 133 99 34 23.825 20.599 5 J3
MTA3 MTA3-J4 144 99 45 23.825 28.550 5 J4
MTA3 MTA3-J5 149 99 50 23.825 35.890 5 J5
MTA3 MTA3-J6 127 99 28 23.825 17.170 5 J6
MTA3 MTA3-J33 127 99 28 23.825 15.850 5 J33
MTA3 MTA3-B10 120 99 21 23.825 10.094 5 B10
MTA3 MTA3-B12 124 99 25 23.825 12.065 5 B12
MTA3 MTA3-B16 131 99 32 23.825 15.733 5 B16
MTA3 MTA3-B18 139 99 40 23.825 17.780 5 B18
MTA3 MTA3-B22 147 99 48 23.825 21.793 5 B22
MTA3 MTA3-B24 157 99 58 23.825 23.825 5 B24

d

NO.S
a

L

L2L1

MTA

D



机床附件 MACHINE TOOL ACCESSORIES

机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T04

扁尾型莫氏钻接杆 JXT25-50 SUBJECT 

MTA 规格 / 型号  Model L L1 L2 D d a NO.S
MTA4 MTA4-J2 149 124 25 31.267 14.199 6.5 J2
MTA4 MTA4-J3 158 124 34 31.267 20.599 6.5 J3
MTA4 MTA4-J4 169 124 45 31.267 28.550 6.5 J4
MTA4 MTA4-J5 174 124 50 31.267 35.890 6.5 J5
MTA4 MTA4-J6 152 124 28 31.267 17.170 6.5 J6
MTA4 MTA4-J33 152 124 28 31.267 15.850 6.5 J33
MTA4 MTA4-B10 145 124 21 31.267 10.094 6.5 B10
MTA4 MTA4-B12 149 124 25 31.267 12.065 6.5 B12
MTA4 MTA4-B16 156 124 32 31.267 15.733 6.5 B16
MTA4 MTA4-B18 164 124 40 31.267 17.780 6.5 B18
MTA4 MTA4-B22 172 124 48 31.267 21.793 6.5 B22
MTA4 MTA4-B24 182 124 58 31.267 23.825 6.5 B24
MTA5 MTA5-J2 181 156 25 44.399 14.199 6.5 J2
MTA5 MTA5-J3 190 156 34 44.399 20.599 6.5 J3
MTA5 MTA5-J4 201 156 45 44.399 28.550 6.5 J4
MTA5 MTA5-J5 206 156 50 44.399 35.890 6.5 J5
MTA5 MTA5-J6 184 156 28 44.399 17.170 6.5 J6
MTA5 MTA5-J33 184 156 28 44.399 15.850 6.5 J33
MTA5 MTA5-B12 181 156 25 44.399 12.065 6.5 B12
MTA5 MTA5-B16 188 156 32 44.399 15.733 6.5 B16
MTA5 MTA5-B18 196 156 40 44.399 17.780 6.5 B18
MTA5 MTA5-B22 204 156 48 44.399 21.793 6.5 B22
MTA5 MTA5-B24 214 156 58 44.399 23.825 6.5 B24
MTA6 MTA6-B16 250 218 32 63.348 15.733 8 B16
MTA6 MTA6-B18 258 218 40 63.348 17.780 8 B18
MTA6 MTA6-B22 266 218 48 63.348 21.793 8 B22
MTA6 MTA6-B24 276 218 58 63.348 23.825 8 B24

d

NO.S
a

L

L2L1

MTA

D



机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T05

后拉型莫氏钻接杆 MORSE TAPER DRILL CHUCK ARBORS WITH DRAW BAR

MTB 规格 / 型号  Model L L1 L2 D d a NO.S 螺孔 Screw
MTB1 MTB1-J0 71 57 14 12.065 6.350 3.5 J0 M6*1.0P
MTB1 MTB1-J1 76 57 19 12.065 9.754 3.5 J1 M6*1.0P
MTB1 MTB1-J2 82 57 25 12.065 14.199 3.5 J2 M6*1.0P
MTB1 MTB1-J3 91 57 34 12.065 20.599 3.5 J3 M6*1.0P
MTB1 MTB1-J6 85 57 28 12.065 17.170 3.5 J6 M6*1.0P
MTB1 MTB1-J33 85 57 28 12.065 15.850 3.5 J33 M6*1.0P
MTB1 MTB1-B10 78 57 21 12.065 10.094 3.5 B10 M6*1.0P
MTB1 MTB1-B12 82 57 25 12.065 12.065 3.5 B12 M6*1.0P
MTB1 MTB1-B16 89 57 32 12.065 15.733 3.5 B16 M6*1.0P
MTB1 MTB1-B18 97 57 40 12.065 17.780 3.5 B18 M6*1.0P
MTB2 MTB2-J0 83 69 14 17.780 6.350 5 J0 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-J1 88 69 19 17.780 9.754 5 J1 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-J2 94 69 25 17.780 14.199 5 J2 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-J3 103 69 34 17.780 20.599 5 J3 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-J4 114 69 45 17.780 28.550 5 J4 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-J5 119 69 50 17.780 35.890 5 J5 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-J6 97 69 28 17.780 17.170 5 J6 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-J33 97 69 28 17.780 15.850 5 J33 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-B10 90 69 21 17.780 10.094 5 B10 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-B12 94 69 25 17.780 12.065 5 B12 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-B16 101 69 32 17.780 15.733 5 B16 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-B18 109 69 40 17.780 17.780 5 B18 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-B22 117 69 48 17.780 21.793 5 B22 M10*1.5P-3/8 ＂ -16UNC
MTB2 MTB2-B24 127 69 58 17.780 23.825 5 B24 M10*1.5P-3/8 ＂ -16UNC
MTB3 MTB3-J1 105 86 19 23.825 9.754 5 J1 M12*1.75P-1/2 ＂ -13UNC
MTB3 MTB3-J2 111 86 25 23.825 14.199 5 J2 M12*1.75P-1/2 ＂ -13UNC
MTB3 MTB3-J3 120 86 34 23.825 20.599 5 J3 M12*1.75P-1/2 ＂ -13UNC
MTB3 MTB3-J4 131 86 45 23.825 28.550 5 J4 M12*1.75P-1/2 ＂ -13UNC
MTB3 MTB3-J5 136 86 50 23.825 35.890 5 J5 M12*1.75P-1/2 ＂ -13UNC
MTB3 MTB3-J6 114 86 28 23.825 17.170 5 J6 M12*1.75P-1/2 ＂ -13UNC
MTB3 MTB3-J33 114 86 28 23.825 15.850 5 J33 M12*1.75P-1/2 ＂ -13UNC
MTB3 MTB3-B10 107 86 21 23.825 10.094 5 B10 M12*1.75P-1/2 ＂ -13UNC
MTB3 MTB3-B12 111 86 25 23.825 12.065 5 B12 M12*1.75P-1/2 ＂ -13UNC
MTB3 MTB3-B16 118 86 32 23.825 15.733 5 B16 M12*1.75P-1/2 ＂ -13UNC
MTB3 MTB3-B18 126 86 40 23.825 17.780 5 B18 M12*1.75P-1/2 ＂ -13UNC
MTB3 MTB3-B22 135 86 49 23.825 21.793 5 B22 M12*1.75P-1/2 ＂ -13UNC
MTB3 MTB3-B24 145 86 59 23.825 23.825 5 B24 M12*1.75P-1/2 ＂ -13UNC
MTB4 MTB4-J2 134 109 25 31.267 14.199 6.5 J2 M16*2.0P-5/8 ＂ -11UNC
MTB4 MTB4-J3 143 109 34 31.267 20.599 6.5 J3 M16*2.0P-5/8 ＂ -11UNC
MTB4 MTB4-J4 154 109 45 31.267 28.550 6.5 J4 M16*2.0P-5/8 ＂ -11UNC
MTB4 MTB4-J5 159 109 50 31.267 35.890 6.5 J5 M16*2.0P-5/8 ＂ -11UNC
MTB4 MTB4-J6 137 109 28 31.267 17.170 6.5 J6 M16*2.0P-5/8 ＂ -11UNC
MTB4 MTB4-J33 137 109 28 31.267 15.850 6.5 J33 M16*2.0P-5/8 ＂ -11UNC
MTB4 MTB4-B10 130 109 21 31.267 10.094 6.5 B10 M16*2.0P-5/8 ＂ -11UNC
MTB4 MTB4-B12 134 109 25 31.267 12.065 6.5 B12 M16*2.0P-5/8 ＂ -11UNC
MTB4 MTB4-B16 141 109 32 31.267 15.733 6.5 B16 M16*2.0P-5/8 ＂ -11UNC
MTB4 MTB4-B18 149 109 40 31.267 17.780 6.5 B18 M16*2.0P-5/8 ＂ -11UNC
MTB4 MTB4-B22 158 109 49 31.267 21.793 6.5 B22 M16*2.0P-5/8 ＂ -11UNC
MTB4 MTB4-B24 168 109 59 31.267 23.825 6.5 B24 M16*2.0P-5/8 ＂ -11UNC

L

L2L1

MTB

D

d

螺孔
Screw

NO.S
a



机床附件 MACHINE TOOL ACCESSORIES

机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T06

后拉型莫氏钻接杆 MORSE TAPER DRILL CHUCK ARBORS WITH DRAW BAR

直柄钻接杆 STRAIGHT SHANK DRILL CHUCK ARBORS

MTB 规格 / 型号  Model L L1 L2 D d a NO.S 螺孔 Screw
MTB5 MTB5-J2 161 136 25 44.399 14.199 6.5 J2 M20*2.5P-3/4 ＂ -10UNC
MTB5 MTB5-J3 170 136 34 44.399 20.599 6.5 J3 M20*2.5P-3/4 ＂ -10UNC
MTB5 MTB5-J4 181 136 45 44.399 28.550 6.5 J4 M20*2.5P-3/4 ＂ -10UNC
MTB5 MTB5-J5 186 136 50 44.399 35.890 6.5 J5 M20*2.5P-3/4 ＂ -10UNC
MTB5 MTB5-J6 164 136 28 44.399 17.170 6.5 J6 M20*2.5P-3/4 ＂ -10UNC
MTB5 MTB5-J33 164 136 28 44.399 15.850 6.5 J33 M20*2.5P-3/4 ＂ -10UNC
MTB5 MTB5-B16 168 136 32 44.399 15.733 6.5 B16 M20*2.5P-3/4 ＂ -10UNC
MTB5 MTB5-B18 176 136 40 44.399 17.780 6.5 B18 M20*2.5P-3/4 ＂ -10UNC
MTB5 MTB5-B22 185 136 49 44.399 21.793 6.5 B22 M20*2.5P-3/4 ＂ -10UNC
MTB5 MTB5-B24 195 136 59 44.399 23.825 6.5 B24 M20*2.5P-3/4 ＂ -10UNC

规格 / 型号  Model L L1 L2 C d NO.S
C16-B10 80 60 20 16 10.094 B10
C16-B12 85 60 25 16 12.065 B12
C16-B16 92 60 32 16 15.733 B16
C16-B18 100 60 40 16 17.780 B18
C20-B10 80 60 20 20 10.094 B10
C20-B12 85 60 25 20 12.065 B12
C20-B16 92 60 32 20 15.733 B16
C20-B18 100 60 40 20 17.780 B18
C20-B22 108 60 48 20 21.793 B22
C25-B10 95 75 20 25 10.094 B10
C25-B12 100 75 25 25 12.065 B12
C25-B16 107 75 32 25 15.733 B16
C25-B18 115 75 40 25 17.780 B18
C25-B22 123 75 48 25 21.793 B22
C32-B10 95 75 20 32 10.094 B10
C32-B12 100 75 25 32 12.065 B12
C32-B16 107 75 32 32 15.733 B16
C32-B18 115 75 40 32 17.780 B18
C32-B22 123 75 48 32 21.793 B22

L

L2L1

MTB

D

d

螺孔
Screw

NO.S
a

C

d

L
L1

L2

NO.S



机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T07

顶 尖 套 CENTER SLEEVES

MT.NO.S a

MT.NO.T

L

D

d

规格 / 型号  Model MT.NO.S MT.NO.T L D d A
MT2-MT1 MT2 MT1 45 17.780 12.065 5
MT3-MT1 MT3 MT1 56 23.825 12.066 5
MT3-MT2 MT3 MT2 65 23.825 17.780 5
MT4-MT1 MT4 MT1 70 31.267 12.066 6.5
MT4-MT2 MT4 MT2 70 31.267 17.780 6.5
MT4-MT3 MT4 MT3 75 31.267 23.825 6.5
MT5-MT1 MT5 MT1 85 44.399 12.066 6.5
MT5-MT2 MT5 MT2 85 44.399 17.780 6.5
MT5-MT3 MT5 MT3 95 44.399 23.825 6.5
MT5-MT4 MT5 MT4 100 44.399 31.267 6.5
MT6-MT3 MT6 MT3 110 63.348 23.825 8
MT6-MT4 MT6 MT4 110 63.348 31.267 8
MT6-MT5 MT6 MT5 130 63.348 44.399 8

公制 80-MT4 公制 80 MT4 135 80.00 31.267 8
公制 80-MT5 公制 80 MT5 135 80.00 44.399 8
公制 80-MT6 公制 80 MT6 150 80.00 63.348 8
公制 90-MT5 公制 90 MT5 135 90.00 44.399 10
公制 90-MT6 公制 90 MT6 150 90.00 63.348 10

公制 100-MT5 公制 100 MT5 135 100.00 44.399 10
公制 100-MT6 公制 100 MT6 150 100.00 63.348 10

公制 100- 公制 80 公制 100 公制 80 150 100.00 80.00 10
公制 110-MT5 公制 110 MT5 150 110.00 44.399 12
公制 110-MT6 公制 110 MT6 150 110.00 63.348 12
公制 113-MT5 公制 113 MT5 150 113.00 44.399 12
公制 113-MT6 公制 113 MT6 150 113.00 63.348 12
公制 120-MT5 公制 120 MT5 150 120.00 44.399 12
公制 120-MT6 公制 120 MT6 170 120.00 63.348 12

公制 120- 公制 80 公制 120 公制 80 170 120.00 80.00 12
公制 120- 公制 100 公制 120 公制 100 170 120.00 100.00 12

公制 140-MT5 公制 140 MT5 180 140.00 44.399 12
公制 140-MT6 公制 140 MT6 180 140.00 63.348 12

公制 140- 公制 80 公制 140 公制 80 180 140.00 80.00 12
公制 140- 公制 100 公制 140 公制 100 180 140.00 100.00 12



机床附件 MACHINE TOOL ACCESSORIES

机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T08

螺帽压出顶尖套

莫 氏 中 间 套

WITH REMOVABLE NUT CENTER SLEEVES

MORSE TAPER SLEEVES

MT.NO.S

MT.NO.T

L

d

D

a

MT.NO.S a

MT.NO.T

L
L1 L2

D

Md J
1J M

H
H1

规格 / 型号  Model MT.NO.S MT.NO.T L D d A
BZ2-1 MT2 MT1 74 17.780 12.065 18
BZ3-1 MT3 MT1 80 23.825 12.066 14
BZ3-2 MT3 MT2 80 23.825 17.780 14
BZ4-1 MT4 MT1 90 31.267 12.066 26.5
BZ4-2 MT4 MT2 90 31.267 17.780 26.5
BZ4-3 MT4 MT3 90 31.267 23.825 26.5
BZ5-2 MT5 MT2 110 44.399 17.780 39.5
BZ5-3 MT5 MT3 110 44.399 23.825 39.5
BZ5-4 MT5 MT4 110 44.399 31.268 39.5
BZ6-3 MT6 MT3 130 63.348 23.825 27
BZ6-4 MT6 MT4 130 63.348 31.268 27
BZ6-5 MT6 MT5 130 63.348 44.399 27

规格 / 型号  Model MT.NO.S MT.NO.T L L1 L2 D d a M J J1 H H1
LMYC-6-5 MT6 MT5 150 120 30 63.348 44.399 8 M68*2.0P 88 70 30 7

LMYC-80-5 公制 80 MT5 180 150 30 80.00 44.399 10 M84*2.0P 118 86 30 7
LMYC-80-6 公制 80 MT6 180 150 30 80.00 63.348 10 M84*2.0P 118 86 30 7
LMYC-90-5 公制 90 MT5 180 150 30 90.00 44.399 10 M94*2.0P 118 96 30 10
LMYC-90-6 公制 90 MT6 180 150 30 90.00 63.348 10 M94*2.0P 118 96 30 10

LMYC-100-5 公制 100 MT5 180 150 30 100.00 44.399 10 M104*2.0P 128 106 30 10
LMYC-100-6 公制 100 MT6 180 150 30 100.00 63.348 10 M104*2.0P 128 106 30 10
LMYC-120-5 公制 120 MT5 180 150 30 120.00 44.399 10 M124*2.0P 148 126 30 10
LMYC-120-6 公制 120 MT6 180 150 30 120.00 63.348 10 M124*2.0P 148 126 30 10



机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T09

变 径 套 MORSE TAPER SLEEVES

MT.NO.S

MT.NO.T

L1

D d

L

L2

规格 / 型号  Model                             MT.NO.S MT.NO.T D d L L1 L2
R51 2-1 2 1 17.78 12.065 92 56 17
R51 3-1 3 1 23.825 12.065 99 56 5
R51 3-2 3 2 23.825 17.78 112 67 18
R51 4-1 4 1 31.267 12.065 124 56 6.5
R51 4-2 4 2 31.267 17.78 124 67 6.5
R51 4-3 4 3 31.267 23.825 140 84 22.5
R51 5-1 5 1 44.399 12.065 156 56 6.5
R51 5-2 5 2 44.399 17.78 156 67 6.5
R51 5-3 5 3 44.399 23.825 156 84 6.5
R51 5-4 5 4 44.399 31.267 171 107 21.5
R51 6-1 6 1 63.348 12.065 218 56 8
R51 6-2 6 2 63.348 17.78 218 67 8
R51 6-3 6 3 63.348 23.825 218 84 8
R51 6-4 6 4 63.348 31.267 218 107 8
R51 6-5 6 5 63.348 44.399 218 135 8

R51 80-4 80 4 80 31.267 228 107 8
R51 80-5 80 5 80 44.399 228 135 8
R51 80-6 80 6 80 63.348 280 188 60

R51 100-5 100 5 100 44.399 270 135 10
R51 100-6 100 6 100 63.348 307 188 47

R51 100-80 100 80 100 80 310 202 50

拆 卸 楔 铁 MORSE SHANK PULLER

H

L
h

H1

型号 L H h H1
1# 楔铁 90 12 4 3
2# 楔铁 140 20 5 5
3# 楔铁 190 25 5 6
4# 楔铁 225 30 5 9
5# 楔铁 265 35 5 14



机床附件 MACHINE TOOL ACCESSORIES

机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T10

直 柄 变 径 套 SOLID SOCKET WITH MS HOLE(WITH TANG)

规格 / 型号  Model D(in) MTA.NO.T d(mm) L(in) 规格 / 型号  Model D(mm) MTA.NO.T d(mm) L(mm)
BSS-3/4XMTA1 3/4

MS1 12.065

3-1/4 BSS-16XMTA1 16

MS1 12.065

90BSS-1XMTA1 1
3-1/2

BSS-20XMTA1 20
BSS-1-1/4XMTA1 1-1/4 BSS-25XMTA1 25 95
BSS-1-1/2XMTA1 1-1/2 BSS-30XMTA1 30 115

BSS-1XMTA2 1

MS2 17.780 4

BSS-32XMTA1 32 88.9
BSS-1-1/4XMTA2 1-1/4 BSS-35XMTA1 35 90
BSS-1-1/2XMTA2 1-1/2 BSS-40XMTA1 40 88.9BSS-1-3/4XMTA2 1-3/4 BSS-50XMTA1 50

BSS-2XMTA2 2 BSS-25XMTA2 25

MS2 17.780

95
BSS-2-1/8XMTA2 2-1/8 BSS-30XMTA2 30 115
BSS-1-1/4XMTA3 1-1/4

MS3 23.825 4-3/4

BSS-32XMTA2 32 101.6
BSS-1-1/2XMTA3 1-1/2 BSS-35XMTA2 35 102
BSS-1-3/4XMTA3 1-3/4 BSS-40XMTA2 40 101.6

BSS-2 XMTA3 2 BSS-40XMTA2A 40 125
BSS-2-1/8XMTA3 2-1/8 BSS-50XMTA2 50 101.6
BSS-2-1/4XMTA3 2-1/4 BSS-50XMTA2A 50 135
BSS-2-1/2XMTA3 2-1/2 BSS-30XMTA3 30

MS3 23.825

115
BSS-1-1/2XMTA4 1-1/2

MS4 31.267 6

BSS-30XMTA3A 30 120.65BSS-1-3/4XMTA4 1-3/4 BSS-32XMTA3 32
BSS-2XMTA4 2 BSS-35XMTA3 35 120

BSS-2-1/8XMTA4 2-1/8 BSS-36XMTA3 36 120.65
BSS-2-1/4XMTA4 2-1/4 BSS-40XMTA3 40 120.65
BSS-2-1/2XMTA4 2-1/2 BSS-40XMTA3A 40 135
BSS-2-1/4XMTA5 2-1/4

MS5 44.399

7-3/8 BSS-50XMTA3 50 120.65
BSS-2-1/4XMTA5A 2-1/4 8 BSS-50XMTA3A 50 175
BSS-2-1/2XMTA5 2-1/2 7-3/8 BSS-60XMTA3 60 185

BSS-2-1/2XMTA5A 2-1/2 8 BSS-40XMTA4 40

MS4 31.267

152.4
BSS-3-1/2XMTA6 3-1/2 MS6 63.348 10-1/8 BSS-40XMTA4A 40 155

BSS-50XMTA4 50 152.4
BSS-50XMTA4A 50 175
BSS-60XMTA4 60 185
BSS-50XMTA5 50 MS5 44.399 175
BSS-60XMTA5 60 187.3

d D

L

MTA.NO.T



机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T11

加 长 变 径 套 LENGTHEN MORSE TAPER SLEEVES

规格 / 型号  Model MT.NO.S【外锥】 MT.NO.T【内锥】 L L1 L2 D  d
2-1-D18-L160 MT2 MT1 160 80 80 18 12.065
2-1-D18-L215 MT2 MT1 215 135 80 18 12.065
2-2-D24-L175 MT2 MT2 175 95 80 24 17.780
2-2-D24-L200 MT2 MT2 200 120 80 24 17.780
2-2-D24-L250 MT2 MT2 250 170 80 24 17.780
2-2-D24-L300 MT2 MT2 300 220 80 24 17.780
2-3-D31-L196 MT2 MT3 196 116 80 31 23.825
2-3-D31-L250 MT2 MT3 250 170 80 31 23.825
2-3-D31-L300 MT2 MT3 300 220 80 31 23.825
3-2-D24-L194 MT3 MT2 194 95 99 24 17.780
3-2-D24-L250 MT3 MT2 250 151 99 24 17.780
3-2-D24-L300 MT3 MT2 300 201 99 24 17.780
3-3-D31-L215 MT3 MT3 215 116 99 31 23.825
3-3-D31-L250 MT3 MT3 250 151 99 31 23.825
3-3-D31-L300 MT3 MT3 300 201 99 31 23.825
3-3-D31-L350 MT3 MT3 350 251 99 31 23.825
3-3-D31-L400 MT3 MT3 400 301 99 31 23.825
3-4-D40-L240 MT3 MT4 240 141 99 40 31.267
3-4-D40-L300 MT3 MT4 300 201 99 40 31.267
4-2-D24-L215 MT4 MT2 215 91 124 24 17.780
4-2-D24-L250 MT4 MT2 250 126 124 24 17.780
4-3-D31-L240 MT4 MT3 240 116 124 31 23.825
4-3-D31-L300 MT4 MT3 300 176 124 31 23.825
4-3-D31-L350 MT4 MT3 350 226 124 31 23.825
4-3-D31-L400 MT4 MT3 400 276 124 31 23.825
4-3-D31-L450 MT4 MT3 450 326 124 31 23.825
4-3-D31-L500 MT4 MT3 500 376 124 31 23.825
4-4-D40-L265 MT4 MT4 265 141 124 40 31.267
4-4-D40-L300 MT4 MT4 300 176 124 40 31.267
4-4-D40-L350 MT4 MT4 350 226 124 40 31.267
4-4-D40-L400 MT4 MT4 400 276 124 40 31.267
4-4-D40-L450 MT4 MT4 450 326 124 40 31.267
4-4-D40-L500 MT4 MT4 500 376 124 40 31.267
4-5-D63-L300 MT4 MT5 300 176 124 63 44.399

MS.NO.S
MS.NO.T

L

L1L2

L1L2

L

d D
d D

MS.NO.S MS.NO.T



机床附件 MACHINE TOOL ACCESSORIES

机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T12

加 长 变 径 套 LENGTHEN MORSE TAPER SLEEVES

规格 / 型号  Model MT.NO.S【外锥】 MT.NO.T【内锥】 L L1 L2 D  d
5-3-D32-L268 MT5 MT3 268 112 156 32 23.825
5-3-D32-L300 MT5 MT3 300 144 156 32 23.825
5-3-D32-L350 MT5 MT3 350 194 156 32 23.825
5-3-D32-L400 MT5 MT3 400 244 156 32 23.825
5-4-D40-L300 MT5 MT4 300 144 156 40 31.267
5-4-D40-L350 MT5 MT4 350 194 156 40 31.267
5-4-D40-L400 MT5 MT4 400 244 156 40 31.267
5-4-D40-L450 MT5 MT4 450 294 156 40 31.267
5-4-D40-L500 MT5 MT4 500 344 156 40 31.267
5-4-D40-L550 MT5 MT4 550 394 156 40 31.267
5-4-D40-L600 MT5 MT4 600 444 156 40 31.267
5-5-D58-L335 MT5 MT5 335 179 156 58 44.399
5-5-D58-L350 MT5 MT5 350 194 156 58 44.399
5-5-D58-L400 MT5 MT5 400 244 156 58 44.399
5-5-D58-L450 MT5 MT5 450 294 156 58 44.399
5-5-D58-L500 MT5 MT5 500 344 156 58 44.399
5-5-D58-L550 MT5 MT5 550 394 156 58 44.399
5-5-D58-L600 MT5 MT5 600 444 156 58 44.399
5-6-D78-L390 MT5 MT6 390 234 156 78 63.348
6-4-D40-L355 MT6 MT4 355 137 218 40 31.267
6-4-D40-L400 MT6 MT4 400 182 218 40 31.267
6-4-D40-L450 MT6 MT4 450 232 218 40 31.267
6-4-D40-L500 MT6 MT4 500 282 218 40 31.267
6-5-D58-L390 MT6 MT5 390 172 218 58 44.399
6-5-D58-L450 MT6 MT5 450 232 218 58 44.399
6-5-D58-L500 MT6 MT5 500 282 218 58 44.399
6-5-D58-L550 MT6 MT5 550 332 218 58 44.399
6-5-D58-L600 MT6 MT5 600 382 218 58 44.399
6-6-D78-L465 MT6 MT6 465 247 218 78 63.348
6-6-D78-L500 MT6 MT6 500 282 218 78 63.348
6-6-D78-L550 MT6 MT6 550 332 218 78 63.348
6-6-D78-L600 MT6 MT6 600 382 218 78 63.348

MS.NO.S
MS.NO.T

L

L1L2

L1L2

L

d D
d D

MS.NO.S MS.NO.T



机
床
附
件

M
AC

H
IN

E TO
O

L
 ACC

ESSO
R

IES

T13

车 床 拉 料 器 LATHE PULLER

L

L1 L2

Dd

规格 / 型号  Model L L1 L2 D d 柄规格
LLQ-W16 159 75 47 30 16

方柄LLQ-W20 159 75 47 30 20
LLQ-W25 159 75 47 30 25
LLQ-D16 159 75 47 30 16

圆柄LLQ-D20 159 75 47 30 20
LLQ-D25 159 75 47 30 25
LLQ-D32 159 75 47 30 32


